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SA AFY
B FHSANE U KAWL (RELT SN/ AL A
SRl S dEEFNA CEREED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OetEX W XEE OHd 6,500
032w & Jid 110,000
NHAFOINMEY LR28(=1) 2,000 2,000 0
= 2,000
201 er23| 2,000 2,000 0
= 2,000
01 At22t2l] 2,000 2,000 0
OXSHAZHEHME LX2Y 2,000
= 2,000
S S d2NEAE 735,000 0 735,000
[ 735,000
403 MR HHMSAH=01H 735,000 0 735,000
= 735,000
01 AXIEHM A= 2 £ 735,000 0 735,000
oglIEEHl Z2HEAY 735,000
= 735,000
FEAIZHE AR S XIS (A2 SR /=) 98,510,333 90,009,828 8,450,505
= 84,821,700
Jl 50,000
= 13,638,633
FEEAXE 98,460,333 89,449,828 9,010,505
= 84,821,700
=S 13,638,633
FAZ0(21) 88,074,523 82,622,768 5,451,755
= 80,838,000
== 7,186,523
202 04l 4,000 4,250 A250
01 =LHAHI 4,000 4,250 A250
FAHASA 2= 4,000
308 AtAIEMSOIE 88,070,523 82,618,518 5,452,005
= 80,888,000
= 7,182,523
01 XN EES 88,070,523 82,618,518 5,452,005
FHS0 ALY 88,070,523
= 80,888,000
= 7,182,523
=HFALAS OlAH XIR(=1) 51,870 47,320 4,550
= 39,900
[ 11,970
308 AXIHSOIA 51,870 47,320 4,550
= 39,900
= 11,970
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SA AF
BB oA ZOMH U= K BHA A= /FE)
oelr FEEHAA EEERSED
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 XN BELES 51,870 47,320 4,550
OFHHLAS OlAHl X2 51,870
= 39,900
< 11,970
ZEE 7N FAHSH XNE 84,000 84,000 0
403 AXIEHMSA=0l1d 84,000 84,000
01 MHXIHHA 22X 84,000 84,000
oY =HRX =HS0 X 84,000
ZHOHQI =84 JHEALR (=10) 251,940 251,940 0
= 193,800
=S 58,140
403 X HMSAH=01H 251,940 251,940 0
= 193,800
== 58,140
01 A= 2L 251,940 251,940 0
OHOHI =& JHE AL 251,940
= 193,800
< 58,140
HEEAM SAl SEXE AH(=1) 4,160,000 1,060,800 3,009,200
= 3,200,000
= 960,000
308 XtXIEMSO0IH 4,160,000 1,060,800 3,099,200
= 3,200,000
=S 960,000
01 XN BELES 4,160,000 1,060,800 3,099,200
OFHEEAN BtAl SEXE At 4,160,000
= 3,200,000
< 960,000
NEFF F=HN= S0 X3 1,415,000 2,013,000 598,000
201 ger= 3| 15,000 13,000 2,000
01 AtR2te|HI 15,000 13,000 2,000
OUE0IX X MY S22 MH 15,000
308 XXM SOIH 1,400,000 2,000,000 A600,000
01 AXEH B2 LS 1,400,000 2,000,000 600,000
OMERE == HWE0IA XIS 1,400,000
SN 253 gtet 25 B85 X (21) 650,000 260,000 390,000
= 500,000
< 150,000
308 AXIHSOIA 650,000 260,000 390,000
= 500,000
S 150,000
01 HAHHBSEXS 650,000 260,000 390,000
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SA AF
. AZ2IZHI(A=) (OIEHIIE
el J1=2 3 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
202 04l 8,778 7,220 1,558
01 2LHoIH 8,778 7,220 1,558
OR N2 =LY 8,778
203 HF=4AH] 3,600 3,600
MU A2 LRSI 3,600 3,600
©202! Olat 300,000 x 12 3,600
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